36. How would you separate camphor, sodium chioride and sand from thelr
mixture ?
(CufSWTR CoRTRS T I w1, el o Ao D s e sica A
N OO, e T¥R opery AT fi 1)

37. What do you mean by Brownian Motion ?
(SFu R e g r)

8

38. Anclement has two isotopes sxlﬁund le . Calculate the numbers

of proton, neutron and clectron found in both of them.

(mmwmsxma sxls (B gfdre TeRas i, fRegAe

WS- et el a1 1)

39. Find the percent composition of Carbon, Hydrogen and Oxygen in Ethyl
Alcohol.
ety oo i 1, 2R IOeT @ STeRR et =i re 1)
40. Which one between chlorine atom and chloride ion is most stable ?
Explain why ?
(AR vhra 6 GRS ST W0y G0 il - ot 3 1)
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CHEMISTRYAPTITUDE TEST-2018
Stage—I (for Class IX)

Full marks : 50 Time : 1.30 hrs.

Answer all the Questions. There are 30 MCQ (1-30) in Group A, each of 1
mark, Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-Seript. Multiple
Shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
cach of 2 marks - answer these questions in the space provided for in the
Answer-Script.

GROUP-A
Multiple Choice Questions :

1. Which one is not the property of molecules of a substance ?
(a) Inter-molecular space (b) mobility
(c) colour (d) Inter-molecular force.
e R Amreda s a7 —
(a) s S et (b) et
©= (d) s SFRT |

30x1=30

2. Which ofthe following change does represent vaporisation ?

(2) Solid - Liquid (b) Solid —» Gas

(c)Liquid — Gas (d) Gas — Solid.

qe57 @I ARRE FroMeTm 961 2imiet 30 ¢

(2) 3R > o7m  (b) 3 - U1t () ot 0w (d) TR - 3

3. Molarmass of a hydrocarbon is 30. The hydro carbon is ....

(@)Acetylene  (b) Butane (c) Ethane (d) Propane.
G ZRGFRET AR &7 30, TRGREAD 25 -
(a) «Pfdfem (b) e’ (c)T=A (d) = |
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Which of the concentration unit is independent of teniperature ?
()Molarity  ()Molaliy  (c)Nomuality  (d) Percent.
Morm e R SR T0G CRA( St e ¢
@amA®  O)om@B  (©FuRE (4T

An unsaturated solution can be made saturated by —

(a) Adding mare solute (b) Decreasing lemperature
(c) Increasing temperature (d) None of these.
D ATy TS XY A -
(2) =S CTRI AP COS WA (b) SRR 2 ¥
(c) Stviamn R (d) Sri e T
Which of the following isa metalloid ?
() Gold (b)Arsenic  (c)Silver (d) Copper.
R e -
@ oweRs  (c)Feem (@3
. Identify the metal that is lighter than water.

(2) Boron (b) Lithium ()Ahminium  (d) Beryllium.
RH I R A AR T A WO G T -

(o) Gt G)FfRE () eRfREm  (d) @)
If*’ valume of a body be immersed in a liquid of density P, then upthrust
is (g=acceleration due to gravity) —

(a)% (b) vpg (c)—\% (d)%"g
P R w2 Refeas <l 338 e v, Ot o Sabin 1A -
@ (b) vpg ©) 5 G)) e

. No. of oxygen atoms present in 8g Oxygen is equal to those of Hydrogen

atoms present in —— gm Hydrogen.
@05gm  (b)lgm (©)2gm (d)4gm.

8 1 SRR T OGRS SO e SIS ——— I R RO
WM
(a) 0.5 s (b) 1 &9 (c) R o= (d) 4 ==
10. The comect ratio of atoms of *iron": Sulphur : Oxywen in fimous sulphate
is .
(a)1:23 ®) 1:1:4 (©)2:3:4 (d) 1:2:1.

CRPAMTED ST SR | AR | SRR R R wie -
@1:23 () 1:1:4 (©)2:34 (d) 1:2:1.
11, Identify the physical change —
(8) Electrolysis of water (b) Addition of water to quick lime
(c) Sublimation of Iodine (d) Rusting of iron.
1S #Faal S
(a) wow ofie R (b) FR = TR
(c) SrwiSTa Toires (d) coreeRr =St s

12, The lightest of all the chemical elementsis .....
(a) Helium (b) Neon (c)Chlodine  (d) Hydrogen.
WY IFIE GNoT Weg e giers b =
(a) Bffam ) Fe= (o)== (d) RS |

13. 14gNitrogen means—

(a) 0.1 mole Nitrogen (b) 0.5 N atoms of Nitrogen
(c) 0.5 Nmolecules of Nitrogen  (d) None of these.
(N is Avogadro number)
38 AW ARGHT Y -
(a) 0.1 G TS (b) 0.5N EHITES sty
() 0.5N "RQIE= =g (d) Seiv ceRToR = |

(N = qrstsireg1 5wl) |

14. Thesize of an atom is in the region .....
(8) >10*cm  (b) <10*cm  (c)10*cm (d) None of these,

oy v A AN Sl da da ha ' an a2l Cad L oad
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(8) >10* @R (b) <10* G (c) 10°* R (d) PR =m
15. Which is Lerger in mass ? .

{2) 0.5 mole of ammoania (b) | mole of carbon dioxide

(¢) 0.1 mole of glucose (d) 24 gm oxygen gas.

AT R T PRRETEORA (P

(2) 0.5 cem =3 (b) > RIS TfTS

(c) 0. 1AM oRwrm (d) 24 == eSS P |
16. Bzrningoﬂ.POismmlcof- .

(c) endothermic change (d) Both physical and chemical

change.

LPG e @

(2) B =& (b) TR #fFaE

(c) =il v (d) ;o1 ¢ TR R
17. To detect trace of water in a mixture we can use —

(2)ALO, (b) BeO (c) CaO (d) CusO,.

S e wrrR Ry EER el Ffrms s g 3 -

(®)ALO, (b) BeO (c) CaO (d) CuSO,.
18. No. of atams of reactants is equal to that of the products. This fact is in

agreement with the law of -

(a) Consexvation of mass (b) Multiple proportion

(c) Reciprocal proportion (d) Definite proportion.

R P v REmere e Tm - @ Rt @ fmmm
e TS 2P I O -

(a) e T (b) A 7
(o R (d) P o |
[Page4of8]
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19. Which particle s not found in the nucleus of an atom ?

(a) Proton (b) Neutron (c) Electron (d) Norne.
Sz D AR BRI 4T -
(a) calb= () &R (c)e=EA (d) =% =m
20. The element named afler moon is—
(a) Helium (b) Molybdenum (c) Selenium  (d) Holmium.
fizac M(mooﬂ)mwmﬂ‘;ﬂﬁ'&c&fﬂm-
(a) fifrara (b)"FRTesa  (c) AR (d) ZmmE)
21. The total mmber of different types of ions obtained by dissolving common
alum in water arc—
(@2 ()3 (©4 @s.
T RS W GPTee (1 RIS A S 2 - i GG et
1 -
@2 ®)3 ©4 @5.
22. The law of conservation of mass was enunciated by —
(@)A.L. Lavoisier (b) John Dalton
(c) PJ. Priestley (d) J.L. Gay Lussac.
oz foper s g R amfem el zem -
(2) 9.971. FYrSACTR (b) GRS
(c) F1.c=. fosbrm (d) @A, CRAF
23. 40y element has neutron number 22. Its Atomic number is—
()20 (b)18 ©)8 (d) 10.
© 40y - 9% (TR TR AR 32 1 XA HEA T WA -
(a)20 (b) 18 ()8 (d) 10.

24. Among the following three element which one is Radioactive ?
@6 Gi6c” (i)
(@) (i) (®) (i)

(c) (i) (d) None.
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@6’ @’ @
@) @) ® & © 06 (4) Nooe.
@ ) ®) G ©0 @R
25, Which of ihe following soluion will show Tyndal cfiect 7
(2) Seht solution ME
(c) Coppex Sulphate soicticn. () Stasch sokicn.
o zor R FA AR AT 1
(2) "= 22 ®)=
(©) @ TR (@) BFEA!
26. }m}m‘amumuiﬁnucﬁdmmmm,ﬂ?
(a) Evapoxation (b) Preparing solution and distillation
(c) Sublimation (d) Crystallisation.
NaCl &= NH C1 fifire %67 fo oor¥ it NH CI et 333 1
(2) 8= (b) =Rt =T e
(c) B (@) "R
27. Latent heat of evaporation of water is —
(2) 226 x 10° JAg (b)225x 10* JAg
(€)33.4x 10° JAg (d)334x10°)kg.
R R R I -
(a) 22.6 x 10° o/ i (b) 2.25 x 10* wm/cefie
(c) 33.4 x 10° oo/ o (d) 3.34 x 10* w/cofr |
28. The component of water and Methyl alcohol mixture can be separated
by -
(a) Distillation (b) Evaporation process
(c) Fractional Distillation {(d) By Sublimation process.
w6 i e e (s S T R TA -
(a) "z &) IR
(c) wrd e s wr (d) S=tremwm
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How Agueoes sotuton of Mgl will o m o form ?

29.
(3) Mg~ 2C1) (5)Mz. CF ) (c)iMg= ) (&) (Mg™. CD)
W ERE MgClL 9w =z -
(a)(Mg”. 201 ) (o)Mz CP)  (o)(Mgm,C1y (Mg Cl)
30. Conditionof NTPaxSTP s-
(a) 0°C a=d | =mosphenic pressare
(b) 25°c and | atmosphenc pressse
{c) 300 K & | mosphenc pressae
(d) 0FC znd 750 mm stmospheric pressre.
NIP=STP B R
fa)WCﬂlﬂ'ﬁﬁ!m lb)ZS‘leﬂIﬂo‘lm
(C)JWKHIWE‘.‘ (d)O’CﬂTSOmwaﬁle-.
GROUP-B
Answer the Questions as directed : 102=29
(B erasrgrRT=E=s )
31. Determine the mass of a carbon (C7) 2:om.
(T2 (CF) B w2z ez 279 )
32. State the Law of conservarion of mass. In what way heating of CaCO,
worad follos tas law 7
(w2 e vt frqe o fena CaCO, & Sl & S GiA SR 1)
33. How many Chlonde and sodivem ions are present in 5,85 gn NaCl?
(SES == Nall £ 3|95 o & e - T W Y
34 hgephiz ooano el ver conducts decicity — Why ?
(TS w2 ee te viaTs T W - O )
35. ‘Bumng of candle is both a pinvsicad as well &s a chermical change’ -

Justify or contradsct the statement.
(TR oA 2 (S e TR A | vards v s T - e
TR EeTra )
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